Answers for the maths mats

Year 5 Maths Activity Mat: 1

Answers
Section 1 Section 3
Order the following numbers from smallest to largest. Fatima has 36 cakes to share with some friends. She could share the
cakes so 36 children have 1 coke each. Explain four other ways she
[anizer | [awman | [annws | [s7761 ] [ 471817 || | could share the cakes equally without cutting the cakes.

17 &T1 &17 781 71174 &1 417 ET1 741 | 2 childrenhave 18 cobeseach & children have 9 cokes cach
smallest largest 3 childrenhave 12 cobeseach. & chidren have & cokes cach
Section 2 Section 7
Three dasses of duldren roise money for Comic Felief by selling cakes. Each class is given £17 80 to buy ingredients. At the end of the Calculate the Missing |1|1,g|_e;

sale, each dless cownts how musch money they have The diesses have £3482 £2901, £81.78 After subtracting the ameownt giwen o buy
ingredients, hiow much money is raised?

£52.21

74 /A
Section & Section 5 Section 6
Complete the tabke to mrvert Wrie the squivalent to Calculate the perimeter of these rectilinear shapes- ) ’
bemum.rrmdfrn:tuumd h:fradi.uns and decimal Em - -
mpreper fracture Jracticaz i Section 8

13 1 3 Tm Estimate how millilitres in a

% | % & | 0T =om 2m B e

11 1 2 Im

3 | 57 E s Em

19 1 5
3 e | e s | [ s ]




Year 5 Maths Activity Mat: 2

Answers
' . o ! o -1
Section 1 Section 3 Section 5 Section 7
Circle the nurmbers where '3 is Calculaze: Mazch the following nurmerals Write regular or irregulor under the
in the thousands ploce: to the eguivalent written follewing shaopes
56 x 100 = | 560 rumiber.
92 735 92 B54 '

“_q 769 % 100 = 769 AEvERLEER pEinl
(85 492> .

17.07
O TEVEN
(85 410 16 905
(35 4100 219 + 100 = 2.19

:

56 E92
3306 + 100 ] EEVEn paint 717
. _ :
7% 501 M) Sh7 | 33.04 o e o Teqular oo drreqular
93 578 ) ’ L
27 631 7 seventeen paint | 17.97
u FEPE SEuEr !
i“t:““ 4 | Section 8
. sert the correct symbol to L ) .
Section 2 make this number sentence Here 1= a table showing the number of vehicles
that passed a school in one day.
Calculate the following in your cofrect. <, = or = 5 . 6
nead ection Vehicle MNumber
Complete the table to convert .
— Car 213

6+ 18= 75 4 - iﬂ hetween millillitres and litres

— 3 1 . Bus 37
77 4 Gl = g1 \ g Millilitres Litres L arry 29

—_— 3 = iF 110ml 0.111 Van 25
B2-45= E¥)

B ————— 7 13 10 000ml 100 Three tirmes as many oars passed the school os

[ = = 0 other vehlcles. How many vans passed
92-38= 54 5 “0 1650ml 1.651 the school?




Year 5 Maths Activity Mat: 3

Answers
Section 1 Section 3 Section 5 Section 7
Continue the number sequence. Caleulate- Found these numbers to How many rectangles are there in this drowing?
the nearest whole number:
1099 | 2093 | 3099 | 4099 | 5099 Sx60=| 300 —
115= 12
92773 | 91773 | w0773 | 89773 Wxi=| 210 —_—
56973 | 66923 | 76923 | 86973 40x90=| 3600
912 = q
718902 708 902 £98 902 80 = 11[|'=| 2E00
Lh2 =

Section 2

Write all the prime numb-ers
from 21 to 50.

13, M, 31, 37, 81, 43, 47 |

- -

-

Section 4
Accept any rensonable answer.

For example:

3

N

»

Section 6

Ben gets the 17:12 train.
The journey is due to
last 1 howr 52 minutes.
At what time should the
train arrive?

19:04

]

e

o

Section 8
Translate this shape from point A to point B.

.




Year 5 Maths Activity Mat: 4

Answers
" '
Section 1 Section 2 Section 6
The temperatwre is 8°C. Two hours Here are the weekend cinema takings for Tkg = 2.21b (pounds)
:thﬁf, the Tﬂturewus &C m|::f 29% April - 1= May 2014 1 stone = 14lb
was the temperature two hours
) How many kilograms in
arlier? i ] y
e | Captain America | £14 466 681 oo P
¢ | The Jungle Book | £5 758 824 ] answer to two
decimal ploces.

Section 3

5?[3
EE

6|7]2
(4]0 [s]

11 2 6 3
-
Section 4
Order the following fractions from
smallest to largest.
21151
3 12 & 1B

2 13 5 11
Kkl T8 3 12

largest

What woz the difference in takings
between the two films, rounded to the
nearest thousand?

£8 708 000

%,

&

Section 5

Adjecent squares are added together to
give the number above. Complete the
number wall

24.8

13.76 1104

6.93 683 &1

Section 8

Children measure the height of a sunflower once @ week. They
record their measurements in a table.

Height of Sunflower

e

Height of
Week | sunflower
{cm)
Wizek 1 3
Wik 2 10
Wieek 3 18
Wiz 4 7

25

E

LE]

Draw the line on the graph

15
10

Section 7

Draw a triangular prism.

/

/

/

e

-

week 1 week? week 3 weck &




Year 5 Maths Activity Mat: 5

Answers

' . = i
Section 1 Section 3 Section &
‘Write these Roman Mumerals as numbers, Caoloulote Calculare
T —— 126 | 426x 13=| 5538 | % + %:, = et
. 2 1 7
JCCLKD-’.—* 1456 + 7/ =| 208 | El e
Section 2 Section 6

Circle the square numbers

12
23
Ol ”
41 35

@ o a0
3l @ 48

a8
? 77

135 - 110

121} 118

@

144

VA4 e

Tmil of water weighs 1q, An empty plastic bottle weighs
10g. How much da & halfHive bottles full of wotes

Section 5

Write the following fractions as percentages

4E 19 &
ﬁ—lﬂ'ﬂ- 700 = 19% ﬁ—@

Section 8

Here is a train timetahle:

o

weigh in kilograms? wondon S| pesn | oroe | o758
Poanicros
Leicester | 0752 | 0830 | 0901
Derby 0819 | 0805 | 0925
‘ Chesterfield | 0837 | 0827 | oaes
Section 7 Seffeld | 0BS5S | 0341 | 0ass |

Droww @ triangle with 2 acute ongles and 7 obtuse angle.

Example:

. ¥ 2
Which 5 the slowest traln? 06:32 (from
Lendan)

Jan needs 1o arrve in Sheffleld by quarter to
ten, Which train should she catch

(52010820

from Leicester?

07:52 or 08:30




Year 5 Maths Activity Mat: 6

Answers
Section 1 Section 3 Section 5 Section 6
I om a 3-digit number. Lucas collects Sp ooins. Complete the table by Which rectangle has the lorger area?
I.am odd When his jor is full, writing the equivalent Bam
he shares the money froction or percentage: 11am
I have twice as many between 3 local charities. ;
hundreds as tens. He counts the full jar and 2 0% Sem A o B
I have bwice as many tens has 255 5p coins. How 13
receive] T ol 33%
e " “
i j-_ *
2
' Section & 1 50%
_ Lse the visual 3
Section 2 representation to aaloulate. T 75%
Write the foctor pairs
of 32. E-E- x4 = 7 L—l

1x32,2x 16, 4x8

Write the common
factors of 9 and 27.

1,3,9




Today you are going to complete some
guestions and problem solving based purely
on decimals and percentages — we have done
this in class and home learning but if any help
is needed, just contact me ©

Some will take more thinking and explanation
than others.

Again, I've added enough in to keep you going
so only do an hour if that’s all you have time
for |



Decimals and Percentages



Dexter says there is only one way to
partition 0.62

Prove Dexter is incorrect by finding at
least three different ways of partitioning
0.62

Which number is represented on the place value chart?

Ones Tenths Hundredths T h ere are Ones
1

0 1 1

, O °° and ___ hundredths.
2

The numberis ___

Match each description to the correct
number.

My number has the same
amount of tens and tenths. =
Teddy
My number has one
decimal place.
Amir

My number has two ;
hundredths.

[y
@ My number has six tenths.

Eva

[ 462 | 264 | [ 4602 | 4046 |




Use the models to record equivalent decimals and fractions.

3 30
03=— = —
10 100

Odd one out T SR '

Which of the images below is the odd

one out?
A

ﬂ Write down the value of a, b, c and d as a decimal and a fraction.
OO IR

Explain why. 1 11 12 13 1% 15 16 17 18 19 2




'N\

To convert a fraction to a
decimal, take the
numerator and put it
after the decimal point.

Amir says,

21
E’B‘E= 0.21 )

Write two examples of converting
fractions to decimals to prove this does
not always work.

OO AAAYOX
AAOOOYr¥x

In this problem symbols have been
used to represent two different
numbers. Write down the value of each,
as a mixed number and as a decimal.

O-: W5 A-m O-mw
- ~10 ~ 100 ~ 1000

0394

= 3 tenths, 9 hundredths and 4
thousandths

9 4

3
==+
10 100 1000

= 0.3+ 0.09 + 0.004

Write these numbers in three different
ways:

(a2 ) (o2 | ((omor |




Dexter is measuring a box Whitney is thinking of a number
of chocolates with a ruler

that measures in Rounded to the nearest whole her
centimetres and millimetres. number is 4

. Rounded to the nearest tenth her
He measures it to the nearest cm and _
number is 3.8

writes the answer 28 cm. Write down at least 4 different numbers
What is the smallest length the box of that she could be thinking of.

chocolates could be?

Round each number to the nearest tenth and nearest whole
number.

Chees = TanlFs Hundeadiha Cles = TentFs Hundvpdiha s = TanlFd Humndeediha
@ o] @ 0/ [OY [ee ol | ele
g € L g ‘ k=)=l g € ] L]
=) o (S %_ =&
[ © [+ Qo] [Oe o | & o
[*) D o] e @




Use <, > or = to make the statements correct.

© OO 00 © © 90
655888 O oo g8
38°°88 (O o

Place the numbers in ascending order on the number line.
113
[ 3115 3 7500 Three and 11 hundredths ]
Alex says,
~

é- 3.105 is greater than 3.2
d because 105 is greater

than 2

J/

Do you agree?
Explain your answer.



Mo, Annie and Tommy all did a test with
100 questions. Tommy got 6 fewer
questions correct than Mo.

Dora and Amir each have 100 sweets.

Dora eats 65% of hers. Amir has 35

sweets left.

Who has more sweets left?

Complete the table.

Mame Score Percentage
Mo 56 out of 100
Annie 3%
Tormmy
Complete the table.

How many more marks did each child
need to score 100%7?

Record the fractions as decimals and percentages.

120 320 20 12
300 400 200 50
Make the

denominator 100 as
an equivalent fraction

Pictorial Percentage Fraction Decimal
Alpartsper | 410utof 100 | 41 hundredths
hundred
41
- = 0.41
43 parts per 43 out of 100 43
hundred hundredths
43/100
43% 0.43
——————
7 parts per 7 out of 100 7 hundredths
hundred
7/100 0.07
7%

r

100

9% =

Alex has read 93 pages of her book. Her book has 300 pages.
What proportion of her book has she read? Give your answer as a
percentage and a decimal.




